BRAOXBEHREERR (F R 28 F2KEE)
MIBIX2A K% TORHE
1 RBEEHREERDR

% £ K mE 73 wl  m =1 B F o
REHH 6,083 {4 =274 & -4.3 % 103.1 4
% EF ¥ 21 A -15 A -41.7 % 0.36 A
BEEHN 1,248 A -307 A -4.1 9% 122.9 A
2 £H7—X MIEHL

D|O|®| @ 6|6|d ® )

x|l z|B|B2|E|%|E|B|=E|4|8 £

w | = =

| = | E|@|E s | %@ m| ]|
5% & #| 40 | 37 (36|32 |31 29| 26| 25|24 22| 21 686
o B+ +6 | 5| -3 +9 | -4 [+11]| -3 |+13| -4 |-15 -46
MEEIERL 6 4 4 2 |12 3|18 7129 8 1
3 KEERIFEE DI
T I
BEEFEFHESD 5 23.8 % +1 +25.0 9% 29.7 %
“EEFEHEH 8 38.1 9% -1 -11.1 % 12.8 %
HEREHFEHFP 1 4.8 % -3 -75.0 % 14.7 %
# 1T =8 1 33.3 % -11 -61.1 9% 42.8 %
< D fio 0 0.0 9 -1 -100.0 9 0.0 9

it 21 100.0 9% -15 -41.7 % 100.0 %
F1 BREINMMAUTE2MEEEAD ORI HE B LBEWNGELAHY FT .
4 FEIRISEE DIKR
S D L O B S
1 5®mUT 2 9.5 % +2 X % 14.2 %
16~245%% 1 4.8 9% -5 -83.3 % 9.2 %
25~295m 2 9.5 % +1 +100.0 9% 6.6 %
30~39=% 3 14.3 % -1 -25.0 9% 16.1 %
40~497% 1 4.8 % +0 +0.0 % 14.5 9%
50~59&% 5 23.8 % +0 +0.0 % 12.0 %
6 0~6 47 4 19.0 % +0 +0.0 % 6/.1 %
6 5 m U L 3 14.3 9% -12 -80.0 o9 19.8 9

it 21 100.0 9% -15 -41.7 % 100.0 %

F BERERMRUTE2MEERAOORMNGTHE - BLEWNVGENHY FT .
E2 OXIF, ATERUE 101 £RY.



5 HEEHAEENR (RIFERLL)

Z | & S| ®F ]| F | & & | 2 |

I L % |

5 % 22l b | B B | B | B

= 1 1

g || | o+ | x| o3 £ | 2
X £ 6, 083 138 275 107 506 327 1,521 669 1,446
REHH AIEELE =274 +2 -29 -26 =51 +8 =12 -20 -124
A () 100 2.3 4.5 1.8 8.3 5.4 25.0 11.0 23.8
X £F 21 1 1 0 2 0 3 1 7
3 EH FUE: 4 -15 +1 +1 +0 +2 -1 -12 -5 -3
R () 100 4.8 4.8 0.0 9.5 0.0 14.3 4.8 33.3
X F 1,248 141 2817 109 537 283 859 1,178 2,753
BI5EHY AIEELE =307 -3 -26 =27 -b6 -3 -87 -12 -45
B (h) 100 1.9 4.0 1.5 7.4 3.9 11.9 16.3 38.0

F BERERMRUTE2MEERADOORMNGTHE - BLEWNVGENHY FT .

F2 BE (16~241) LXEOBHEL, TNETNEELLESFE 1 LFE(BRXERPRIREVE) LESLBROBHTT,

6 HEEHINEREELR (RIFERLL)

S b4) N i ¥ = = = 25
2 E E ?
= 9 |22 || 8| =
= 1 64
54 2 s 4 £ sl F = %
5 5 0 0 0 0 0 1 0 4
HEE RS
S Al =0 =0l =o| =0| =0] =0| =0 +
5 8 0 0 0 0 0 0 1 7
—fpEEaEs
- ] 0| =0 =0o| =0] 1] =0 4 3
5 1 0 1 0 1 0 0 0 0
HEERAS
B Lt -3 +0 +1 +0 +1 +0 -1 +0 -3
5 7 1 0 0 1 0 2 0 4
$ 7 o
S 1l o« x| zo| « | =0 -1 1 =0
5 0 0 0 0 0 0 0 0 0
z o
- | 0| =0 =o| =0] =0] =0] =0 B
NNEE 21 1 1 0 2 0 3 1 15
R I 5|+ Al x0| +«2 1| -» 5| =0

1 EE (16~245)




7 FEER - IKERIFEER (RIEREL)

15 16 20 25 30 40 50 60 65 = ¥
X 4 % l l l l l l l % 07
A 19 24 29 39 49 59 64 LA R
T F | F| & | F| &% | &| & | £ | (%)
X = 0 0 0 0 2 0 1 1 1 5123.8
BRERET Bl 20 | 20| 0| £0 | +1 | £0 | £0 | £0 | £0 | +1 —
—n X £ 0 0 1 2 1 1 1 2 0 81 38.1
SHEREY e T z0l 2] 2] 2 2 s o w1 =0 o] =
_ X = 1 0 0 0 0 0 0 0 0 1 4.8
REERAT e h T o =0 (20| o (=0 o1 o (=0 o1 3] =
% 17 th f =3 1 0 0 0 0 0 3 1 2 71 33.3
BIGELEE| +1 | £0 -1 x0 | =0 [ =0 +1 -1 -11 | -1 —
X = 0 0 0 0 0 0 0 0 0 0 0.0
T O it Bl 20| £0 | 0| £0 | £0 | £0| -1 | £0 | £0 | -1 —
A~ =t X = 2 0 1 2 3 1 5 4 3 21 100
i olgrEk] 2| 2| 3 ] a1 xo [0 201215 —
BRE (%) 9.510.0(4.8(95(14.3(4.81(23.8(19.0|14.3] 100 —
F1 BREIDMBAUTE2AMEIAOEOBIOATRME—BLAENVNEELHY T,
8 BEEFEDREHFHDL— ML FNEERAOKR (BIEXLL)
X n X =3 :[] =3 1 i
BEERERDORSE 5 4 +1
O— MR FIEERRE 1 1 +0
E F B = (%) 20.0 25.0 -5.0
4 7 # T 0 0 +0
9 V—MRIIIEERAREDEFHTE (RIEXLE)
X n £18 | EEER | BEER | SAER | MOER | BEED | HIER |2 ofth B
w | A F 0 0 0 0 1 0 0 0 1
*
FRARER BIEEL| £0 | =0 | £0 | =0 | +1 -1 ] 0| =0 +0
e | A F 0 0 0 0 0 0 0 0 0
ooz g
ERREEH BIELEl =0 | =0 [ =0 [ =0 | =0 | =0 | =0 | =0 +0
10 E7FEHEEANER (BTSN L)
X ) 218 | EBEP | BEER | SEER | MoER | BEED | BIER |2 otk 3 ¥R EE (%)
X = 0 0 0 0 0 0 0 0 0 —
= R Bl 20| 20| 20| £0 | £0 | £0 | £0 | £0 | =0 —
e el & & O] o[ o] o[ of of o o o -
Al g 20| 0 =0 0| 0| 0| =0 =0 [ =0 -
. X = 0 0 0 0 0 0 0 0 0 —
o z
JRYEAZ Bl 20| 20| 20| £0 | £0 | £0 | £0 | £0 | =0 —

F BRERMAUTE2MMEEEAOLORMAFHE—BLEVGENHYET,

3




3 [X BT 47 51l 338 2B 3 A K (TR 234F 25K 5E)
X7 FE- [ EmE | —@e | Bine | B0s | 16~2m | =k=
i il 273 ;L] =l il 3% @i | % P omT| % PoET | % :oEi| % :mi| %A
F F 5 F F F F F F F
X BT F £ g 54 =1 |54 & 24 = - A - - A - - A - - B - W -
B R K 150 -15 1 -2 170 -9 0: -1 0: =0 0: =0 1 -1 0: =0 0: -3
#E ) X 151 +6 2 +0 172 -2 0:i =0 1 -1 0:i =0 1 +1 0:i -2 0:i =0
[ii] X 82 -15 1 +0 95 -23 0: =0 1 +1 0:=+0 0: -1 0: =0 0: -1
th X 127 -12 2 +2 163 -2 0:i =0 2 +2 [OR=={] [OR=={] 1 +1 0:i =0
% M= X] 118 -3 0 +0 138 +7 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0
E B K 154 +36 2 +2 195 +60 0: =0 0: =0 0: =0 2% +2 0: =0 1 +1
RtrBRK 105 -9 0 +0 127 -8 0i=+0 0i=+0 0i=+0 0i=+0 0i=+0 0i=+0
i} X| 132 -4 0 +0 162 +5 0: =0 0: =0 0: =0 0: =0 0: =0 0: =0
B 7 K 105 +18 0 +0 129 +20 0i=+0 0i=+0 0i=+0 0i=+0 0i=+0 0i=+0
ElE R K 129 +17 1 +1 152 +21 1 +1 0: =0 0: =0 0: =0 0: =0 1 +1
# & 176 -30 0 -2 197 -50 0:i=+0 0: -1 0: -1 0:i=+0 0:i=+0 0:i=+0
% X 115 +3 0 -1 135 -9 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0
' E K 144 -66 1 +1 164 -80 0: =0 0: =0 1 +1 0: =0 0: =0 0: =0
M R X 139 -36 0 -1 158 -48 0i =0 0i =0 0i =0 0i -1 0i =0 0i -1
mF B K 212 +8 0 -2 252 +10 0:=+0 0: -1 0:=+0 0: -1 0: -1 0:=+0
ES X 47 -7 2 +2 58 -4 0i=+0 2% +2 0i=+0 0i=+0 0i=+0 0i=+0
= X] 98 +8 0 -2 105 +1 0:=+0 0:=+0 0: -1 0: -1 0: =0 0: =0
G | 92 +6 0 +0 115 +11 0:i+0 0:i+0 0:i+0 0:i+0 0 +0 0 +0
B 2,276 -95 12 -2 2,687 -100 1:+0 6 i +2 1 -1 4 i -2 1 -2 2 i -3
I X 142 +6 0 -1 160 +6 0: =0 0: =0 0: -1 0: =0 0: =0 0: -1
IIIMES X] 88 +4 0 +0 107 +11 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0
b ®H X 96 +12 1 +0 107 +10 1 +1 0: =0 0: =0 0: -1 0: =0 0: =0
5 |Es E X 131 +14 0 -2 146 +14 0i=+0 0i=+0 0i -1 0i -1 0i=+0 0i=+0
R 93 =21 1 +1 107 =21 0: =0 0: =0 0: =0 1 +1 0: =0 0: =0
m|Z E K 92 +3 1 +1 101 +2 0i=+0 1 +1 0i=+0 0i=+0 0i=+0 0i=+0
B & X 75 -2 0 +0 96 +3 0:+0 0:+0 0:+0 0:+0 0:+0 0:+0
5 17 +16 3 -1 824 +25 1 +1 1 +1 0:i -2 1 -1 0:i=+0 0:i -1
18 [ E & 0 -579 0 -1 0 -684 0:i=+0 0:i=+0 0:i=+0 0: -1 0:i =0 0: -1
Bl & K 193 +193 0 +0 223 +223 0: =0 0: =0 0: =0 0: =0 0: =0 0: =0
R [ X 204 +204 0 +0 243 +243 0i=+0 0i=+0 0i =0 0i=+0 0i=+0 0i=+0
(% X| 147 +147 0 +0 169 +169 0:+0 0:+0 0:+0 0:+0 0:+0 0:+0
B 544 -35 0 -1 635 -49 0 0 0 0 0 0 0i -1 0 0 0i -1
% A B W 278 -56 1 +0 318 -13 0:=+0 0:=+0 0:=+0 1: %0 0:=+0 1: %0
EOBE W 261 +16 1 -1 322 +48 0:i=+0 1 -1 0:i=+0 0:i=+0 0: -1 0:i=+0
# 2 m 144 +24 1 +1 172 +37 1 +1 0:=+0 0: =0 0:=+0 0: =0 0: =0
B R M 289 -63 0 -5 341 =70 0:i =0 0: -2 0: =0 0:i -3 0: -1 0:i -3
N B R 161 -1 0 -3 204 +14 0:i -2 0:i=+0 0:i=+0 0: -1 0:i=+0 0: -1
EAA 151 +9 0 -1 178 +6 0: =0 0: =0 0: =0 0: -1 0: =0 0: -1
2 OF 29 -1 0 +0 37 +1 0i=+0 0i=+0 0i=+0 0i=+0 0i=+0 0i=+0
ml|= FE 28 -3 0 -1 39 +4 0: =0 0: =0 0: =0 0: -1 0: =0 0: -1
2 % m 66 -35 0 +0 72 -47 0i=+0 0i=+0 0i=+0 0i=+0 0i=+0 0i=+0
E KX 229 =21 1 +1 279 -42 0: =0 0: =0 0: =0 1 +1 0: =0 0: =0
XK 210 +5 0 -1 243 -10 0:i=+0 0:i=+0 0:i=+0 0: -1 0:i=+0 0:i=+0
2 R 74 -14 0 +0 86 -22 0:i =0 0:i =0 0:i =0 0:i =0 0:i =0 0:i =0
' E A 102 -11 0 +0 129 -10 0: =0 0: =0 0: =0 0: =0 0: =0 0: =0
E M M 97 +5 0 +0 108 +0 0: =0 0: =0 0: =0 0: =0 0:=+0 0:=+0
MR WM 20 +4 0 +0 24 +5 0:=+0 0:=+0 0:=+0 0:=+0 0:=+0 0:=+0
# % 67 -3 0 +0 73 -2 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i+0 0i=+0
5 2, 206 -145 4 -10 2,625 -161 1 -1 1 -3 0:+0 2: -6 0: -2 1 -6
M F 5,743 -259 19 -14 6, 771 -285 3 0 8 0 1 -3 7:-10 1 -4 3i-11
| 33 +2 0 +0 44 +5 0:=+0 0: =0 0: =0 0: =0 0: =0 0:=+0
£ )il M 53 -11 0 -2 63 -8 0: =0 0: -1 0: =0 0: -1 0: -1 0: -1
X B H 27 -2 0 +0 36 +1 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0
Z = M 25 +7 0 +0 26 +4 0: =0 0: =0 0: =0 0: =0 0: =0 0: =0
BT |90 H  H] 8 +0 0 +0 11 +1 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0
X H H 13 -4 0 +0 14 -10 0: =0 0: =0 0: =0 0: =0 0: =0 0: =0
W H ] 12 +6 0 +0 13 +7 0i=+0 0i=+0 0i=+0 0i=+0 0i=+0 0i=+0
w4k Hj 5 -1 0 +0 12 +6 0: =0 0: =0 0: =0 0: =0 0: =0 0: =0
B B H 15 +8 0 +0 18 +10 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0
B H] 18 +1 0 +0 30 +4 0:i=+x0 0:i =0 0:i =0 0:i =0 0:i=+0 0:i =0
B # ] 1 -1 0 +0 1 -15 0: =0 0: 0 0: =0 0: 0 0: =0 0: =0
& A JR 23 +12 0 +0 32 +19 0i =0 0i =0 0i =0 0i =0 0i =0 0i=x0
2 Il H] 27 -6 0 +0 30 -9 0:=+0 0:=+0 0:=+0 0: =0 0:=+0 0:=+0
o IE L F 0 -3 0 +0 0 -6 0i=+0 0i=+0 0i=+0 0i=+0 0i+0 0i=+0
B 260 +2 0 -2 330 +9 0:+0 0: -1 0:+0 0: -1 0: -1 0: -1
R ERE 80 -17 2 +1 147 =31 2 +1 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0
& i 6, 083 -274 21 -15 7,248 -307 5 +1 8 : -1 1 -3 7 :-11 1 -5 3 :i-12

X HEERERTEE 1 ALNL3AFTHOME. 4 AUBRIEOHHTH L.

4




mEF A EEREE R

(FER23EF2RFEE)

Eyen B BHEHR REAEE R
x5 |mEk| A5 |WEw| & 5 | wEk oo BiE
R |BIEL CIE: 34
2,216 -95 12 -2 2,687 -100 ] 1 |0 6 1 4 1-210
ni +16 3 -1 824 +25 | 1 [+ | 1 |+ 0] - 11-1]101|x£0
278 -b6 1 +0 318 =131 0 ([x£0 0|0 0(x0 1 |x0 0(x0
144 +24 1 +1 172 #3711 [+1 ] 0|0 0(x0 0 |x0 0 (£0
= 29 -1 0 +0 37 #1110 |x0 0 [0 0 |x0 0|0 01|x0
ith 28 -3 0 -1 39 +#4]1 0|0 00 O|x00]|-1]0]|x0
2 33 +2 0 +0 44 5|1 0|0 0 [0 0|x0 0|0 01|x0
C 512 -34 2 +0 610 =261 1 [+1 ] 0|0 00 1 |-1]0(x£0
e E R 544 -35 0 -1 635 -49 1 0 [0 0|0 0(x0 O0]|-1]0(x0
229 =21 1 +1 279 -42 1 0 (£ 0 O |=0 O (X0 1 |+1| 0 (£0
X M R 210 +5 0 -1 243 -101 0 [£0 O |0 0 (X0 O0|-1]0(x£0
B2 AT 102 -11 0 =0 129 -101 0 [£0 O |0 0 (x£0 0 |x0 0 (X0
123 97 +5 0 +0 108 0| 0O [0 0 |=0 O (x£0 0|0 0 (%0
& 67 -3 0 +0 13 210 |x0 00 0 |x0 0|0 01|x0
= 27 -6 0 +0 30 910 |x0 0 [0 O0|x0 0|0 01|x0
A 0 -3 0 +0 0 6] 0 |x0 O ([0 0 |x0 0|0 0(£0
I 1,276 -69 1 -1 1,497 -1281 0 |£ 0 O (=0 O |x0 1 |-1|O0 (X0
E 261 +16 1 -1 322 +#48 1 0 (£ 0 1 |-1|0(x£0 0 |x0 0 (X0
23 289 -63 0 -5 341 -010(x0 0|-2]0(x0 0]|-3]01x0
* 151 +9 0 -1 178 +6 ] 0 |0 O [0 0 |x£0 0 |-1[0(£0
e 66 -35 0 =0 12 -471 0 (£ 0 0 |=0 0 (x£0 0 |x0 0 (X0
# 14 -14 0 =0 86 221 0 [£0 0|0 O (x0 0|0 010
E-3 53 -11 0 -2 63 8|10 |0 0 |-1]0|x00]|-1]0]|x0
X 27 -2 0 =0 36 +1 ] 0|x0 00 0|x0 0|0 0|0
- 25 +] 0 =0 26 +#4 |1 0 |x0 0 [0 O0|x0 0|0 01|x0
946 -93 1 -9 1,124 881 0 [x0 1 |-4|0(x0 0|-5]0(x0
mREWT 20 +4 0 +0 24 +5]1 0 |0 0 [0 0 |x0 0|0 0 (£0
8 +0 0 +0 1 +1 ] 0|x0 0 [0 0|x0 0|0 01|x0
13 -4 0 +0 14 -101 0 [£0 O |=0 0 (x£0 0|0 0(£0
12 +6 0 +0 13 +7]1 0|0 0 [0 O0|x0 0|0 01|x0
5 -1 0 +0 12 +6 | 0 |0 0 [(£0 O |x0 0|0 01|x0
15 +8 0 +0 18 #4101 0 (£ 0] O |= 0 O [0 O |=0 0 (£ 0
13 +13 0 +0 92 +19 1 0 (£ 0 O |=0 O (x£0 O |=x=0 0 (£0
161 -1 0 -3 204 +141 0 [-2| 0 |=0 0 (x0 O |-1]0(£0
18 +1 0 =0 30 +#4 |1 0 |x0 0 [0 O0|x0 0|0 01|x0
1 -1 0 =0 1 -151 0 (x£0 0 |x0 0 (X0 0 |x0 0 (X0
23 +12 0 =0 32 +19 1 0 (£ 0 0O |=0 0 (x£0 0 |x0 0 (X0
203 +5 0 -3 267 #2210 [-2]| 0|0 0 (x£0 O0|-1]0(x£0
80 -17 2 +1 147 =31 2 |+1 [ 0|0 0 (x£0 0|0 0 (X0
6, 083 =274 21 -15 1,248 -307 5 1 8 1] - 71-11]1 0




